90538

ASSEMBLY
ISTRICTION

" OUTDOOR hITCHEN

60

\\“ ff

m\\

HIND A VIDEQ ON HOW 10
ASSEMBLE THE QUTDOOR KITCHEN AT
COIZEBBQ.COM/ASSEMBLY

[=]

i

o an







640mm

—

wwQolLlL






1pc. | S (::::f?[) 4pcs.

1pc. | 6 8pcs.

1pc.| 7 2pcs.

4pcs.




M6X12

2"

36pcs,

M4X8

4pcs.

M6X40

Ll
%@@

8pcs.

A |

(Included)




M4X8

4pcs.




M6X12

4pcs.




4pcs.




M6X12

4pcs.

10




M6X12

10

11




1

12

12



13

OK




FIND AVIDEO ONHOW TO
ASSEMBLE THE OUTDOOR KITCHEN AT
CO0ZZEBBQ.COM/ASSEMBLY

14






HND A
ASS EMB
(11tBB

VIDED N HOW O Y /4
16 THE OUTDOOR KTCHEN AT *
B0 COM/ASSENBL .V

[=]

]

Manufactured by

Millarco International A/S ®
Rokhgj 26,8520 Lystrup - Denmark

millarco.com

cozzebbg.com




